CHM 151 Quiz #6 25 Pts Sp 05 Name: }< €4y ~
SHOW WORK TO RECEIVE CREDIT.

1. (5 Pts) Copper metal has a specific heat of 0.385 J/g-°C. Calculate the amount of heat required to raise the
temperature of 24.5 g of Cu from 20.0°C to 85°C.
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2. (5 Pts) What would be the temperature change when a 35.0 g block of aluminum absorbs 24 kJ of heat? The
specific heat of Alis 0.900 J/ge-°C.
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3. (6 Pts) Ethanol undergoes combustion according to the equation Jyu
L CHOH® + 3 0x(g) 2.COe)+ 3 1,0() (notbalanced) Ally,, = - |366.8 2% i
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The standar he%t of combustion of ethanol, zﬁ‘ OH(1), is -1366.8 kJ/mol. Given that
AH¢[COx(g)] = -393.5 kJ/mol and AH ([H,0(1)] = -285.8 kJ/mol. What is the standard enthalpy of formation of
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4. (6 Pts) Calculate the enthalpy change for thé réﬁcflon

2CsH 5(1) + 170,(g) — 16CO(g) + 18H,0(1) AH =2

Given: .
1 2CsH(l) +2504(g) — 16CO4(g) + 18H0(1) AH o =-11,020 kJ. kT
f 2CO(g) + Ox(g) — 2COy(g) AH¢ =-566.0 kJ. AH )
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5. (3 Pts) The combustion of butane produces heat according to the equation
2C:Ho(g) + 130,(g) — 8CO,(g) + 10H,O() AH =-5,314KkJ

How much heat is produced when 25 moles of butane are burned?
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